5 A éphere of diameter 4 in. is inside a cylinder with radius of 12 in and constant height of 8 in. How fast is the
k volume between the sphere and cylinder changing if the diameter of the sphere is increasing at a rate ofz in/min
and the radius of the cylinder is decreasing at a rate of 4 in/min? y
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6. Aboatis pulled toward a dock by a rope from the bow through a ring on the dock 6 ft above the bow. The rope is

hauled in at a rate of 2 ft/sec
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a) How fastis the banthe dock when 10 ft of rope are out?
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b) Atwhatrateisarea of tnangle thanging at that moment?
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